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276 W4 g p pa5l oobl ) = 5
9538 g gop sttt =5y
10589 dt ¢ o315 Wb g p

5995 @5 0,8kt gl Jo 5
5766 dat oy o = 55

1096 et op axi =

7190 gyt oot datt = 3N )
4789 uagt o Jo A = uor Wi
1074 da o 42 = 31 i
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6902 42 o et = (5

6957 4 oy et = “_,;)\,z_.!\

TOT0 Jobe) o hatt = 5yt
7484 JUl as o dest = 5 )
7553 & ) ds o dett = 5yl
7696 & ds o kot = (5 )
8067 &1 g o dett = 5!
8126 ols 8yl oy hatt = (5 )
8352 e oy ot = (g bl

8377 we oy datt = (5 )l

8593 af op ket = )l

9299 pllt do hatt = (5 bl
9383 dit dewas ot = (5l
9391 el pf o pelas ot = (555
9551 (e o 31 pp ot = (gl
9552 o gaalt 31 pp dat = 55t
9750 & 4t o 3902 = (5l
9811 dat oy 3402 = (5 bl
9812 jilo (p dat 3905 = )bl
3638 yes Yo oy 3Bl o = (5 !
9011 god! dot po = (555!
1433 gl Jy¥ aaf Ol = 5%
1905 glatalt 53 0,541 3%

3644 o3 gl gols = 0213 3%
1902 ot Clab axl 5 S8yl
2207 &t dp o uor = (25N
3275 4ol o Olaghes = ik 2%
4905 bt I s = (g gl
3563 (il cplll sl = (3 gl
1884 Js Ciew p 01 1 = gLisd)

8280 et o dot = plisudl
612 ai oy anl = 2oud



7193 o ot kot = 388 0

3500 popt ot o o = (55 428 8 0
4409 o2 N dos o o3 Y ds = B
1273 wag op ari = 30

4193 sast o dit st = B4l

1918 oottt o ot o ot 1 O
10400 i op g go = SR

3835 o op Al dp = (3013 0315 &S
7664 &t & g dat = &8 0

7999 Js o dat = (58 W0

8077 it Juad o dat = (g 45
8473 aas oy datt = 58
9204 dhws p S dat = (55 I
8699 (1)1 659 Aat = s 55
10809 b o1 (o8 = 5.5

TTAT £S89 de oy dast= 5 5" 0
620 uaf oy arf =

1267 sat ozl =

1398 ciwy op azf = d it

7532 o J s o dast = g
9225 (plt o datt = od 1

192 was oy ool ) = (g b

5352 4l oy o = g gtu

7501 Wi de oy datt = (5 5la Wt
150 o6 ¢t potl = (S

7126 ook o dot = S

10304 oteze oy ilae = S
10768 S y4i o (o8 = S ph

8076 i Juzb oy dag = (5 gita
8877 wat Ju o il dat = (5 4ila
3588 5502 cpdl Oy oy alb = yla Wi
2007 Gl i o1 imr = 53,7
2572 oy oo pe = (85 7 g
2664 o) dat o e o = S35 5
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4639 (ot o o J1 ds = p3 p0
7020 4ni o dog = £ 1

8388 wast oy et = 23

1374 0,8 o ui = 45 1

9014 gondt ot = 33 plf

1374 0y, oo azi= 5 40

3224 5 po8 op dorw = (£3 41

6470 ot oy el = J15 0

8655 Ciw g oy et = 1yt

3245 g paw = s1y) 4

3308 et oy Olacks = 3yt
3370 & 39w = i

S11 i o gl g = §5 0

1133 was ozl = §3 0
2017 o 1 e = 50

639 S\l oo ui = 43 4l

TA2 J gy b o a2l = £
1043 et o uzi = 45

1544 5502 o g0 uni= 4540
1894 Jotet 1 o = 5
2322 dat oy e = 5 0

3003 @1 de or Rt 55 = g5 4
3133 et ddt o cplsall ) = 5 )
3613 Jg st o b = £ 0
5484 i o Jo = F3 40

T571 Jgmfl kb (g ot = £
9702 Jos\et o 3302 = £ W0
1710321 iboas cp By jne = £ 0
4592 uzi oy g J ks = o 0
5158 tle wes (p Gl use = yib 4t
9270 sas o ¢ lo dast = 38 )
239 daae 0§y gp gl = 55 40b
6543 JuS ag)lo = $ 5 b it
1223 das o ui = 46



6172 dat (p yob = S g !
9884 glr p.# = 53

9247  uzi p Fsb ket = (S gy
7024 a2l oy dat = (5 gy it
7091 B0 o dat = 5 gy it
7391 Olockus oy bt = (§ g g !
7304 5 st dat = G gy )
T494 (1 L op dat = (G gy )
7640 &t 4 p ot = (S g g )
8170 wa o datt = (S gy pt
8447 dlaas i dat = (§ gy
8669 Ciww gy iy St = (5 i g it
8961 g 4ot = (5 gy !

9077 Ol o A5l dat = (§ gy ot
8954 g ) dat = S gyl
9250 33> dat = Spog )
9317 cdy op plb da = (5 gou g !
9658 g FW hat = (G gy
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10103 ot o sihas = (§ g g
10108 o op i)  dloas = (g gy o)
10136 iy o Aras = ($ gy !
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10880 (silas o (o = s g
11043 JWS ot s gr = $ g g
3907&\.\,&&4}»\.&,5=ﬂ}ﬂ
990 308 op 42 = 550

3583 ot o ol = i3

5108 e op st gt e = i3t
6133 Jo op o = 415
10357 aai g pSa = 5150
10511 ami o poai = 550t
10608 #1r 1 0350 = 3
11032 o8 (2 g = 4150
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4640 g ottt o= V48 = 279
5922 ;ST e cp ol Jo =329
5925 s dat o ol (o = 53779 )
7274 a2 o dat = 53 7 g )

9073 dat op gy ot = (83 7y !
9261 Gl dast = g3 7 9

9629 4z op i dot = 5373 )
10460 s,a\.b\.kh Shgr = 3 7yt
068 o) o @r gl = S
422 dat o S gl = g gy
1481 gy @ pr 42l = 5 gy
1578 (laas cp g2 427 = 303 5l
1599 uzi oy deil = (5 gy )

1775 oottt oo 8k JA) = S 3 s !
1783 ihas o (= J5\) = § gy )
3338 unl o g o (gl Olacho = 3 p 0!
3289 LAl Oleses = 5 3y )

6418 sl it jasd b= 5 3 )
2734 gl pladt (£ = S gy )
2738 o op ool gl = Goos
2426 @ 4 1 e = S ps )
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2879 o ot = s
0392 cuis opl datt o = (S gy !
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9400 o ot o = Sy !
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4849 ol oy 1 i = 5 e
5006 tat o il b = 6 gy
4079 s i &1 4 = G g
4160 cuth J3 o &) 48 = S gy
4346 oo p ptht 8 = S gy
4419 &) F ) &e = s amg !
4419 g & ot SR = (S g g !



1929 Jdnlt 3 5 op jiiy

6868 uxi oy dag = (5Ll

834 Liklil ws oy upi = s
6698 o2 pl o dat = Sz
4370 azi o o2 i ae = LS
10852 jos o (o8 = LSt
5376 Wy uxi oy e = s py
1267 dag o u2i = 55 padi
4393 91 oy 2 1 48 = 55 ad
4445 o op o 1 ke = 55
5914 Giw g on Jo = 55 padt
7323 o p et = 5 ,ad)
7519 o7 ) ds o dat = 5
041 (o s o ool = 5
119 &l s o ool gt = 5 i
120 &1 s @bt} = 8
160 wos oy oottt = (5 !
418 wat oy S i = 5 pads

662 fi> op w3 = (5 )

1185 wast oy i = (5,

1405 Ciw gy op A2l = 5 pal
1562 iy datt oy 4l = (5 padl
1744 wat o sl = (5 pad)
4975 o 4l ol = (5 pa )
2070 swf p &y pr = & patt
2552 Jo oy g = (5l
017 dat oy G = (5l
2890 uai oy oo = ¢ patt

3147 &t 4 oy flo = (6
3596 ste p P = (st
3647 pb o gl = pall
4675 a2 p gl s = 5 al
4765 yedi oy jpdt e = g pat
4843 ual oy oWl s = 5
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1129 was oy a2i = 5150

9544 pdt £ dat = 031 o 5
10155 451 s = 031) o 5
1157 dag oy uzi = 35300

5761 wat oy Jo = 59330
8241 wat oyttt = (g

1927 s ot bl = bl
7035 url o wost = bl

7842 Jo op dat = bl

10986 W& oy ciw gy = Bl
11090 @y oy G o = (3 4l-) Doy
10975 oo Giw gy = 21 Ol
10109 Jo woz o dhas = gl Ok
8474 dhaas iy dut = 0315 Oty
10869 wat oy o = 031) Oty
6991 wri oy wast = 3

853 dit us p ur i = danbl Gloeey
5383 uxi oy e = o

7148 Ol oy datt = (5 )

2066 it pf pldt Jir = allannty
3852 Jebs o dit ds = gl
1459 ot Pr w2i = oty
4499 sast o o7 ) ks = o)
4007 4ot o it ks = gollaf)
5428 jinr o o = ol

5767 aat oy Jo = ot

TA5T tdb o dat = st

7496 Lot de oy tatt = o
5543 ,pib o o o = ol
3674 gwss BT oy pbs 1) po = gatha i
S685 b dat oy o 5,9 = il
6261 Wi oy g = 5 Sl
11027 de op chow o = ¢ St
1928 (51 s08 ponm



10817 o op (58 = s 0!
10985 Wi o chw g = 5 2!
11128 dos o g = S padl

3335 Olehw (5t

7073 Joot op ke = !
2934 plsht g pes S5 = S p
6890 uai - da = ($ pars

1938 ot -1 glr st = (o S
5389 Sl op o = il
578 K op anl = oy

365 ol yg Blonl gl = x5 ol
8542 Pt o hot = o grodbay
3640 @ g o1 ppls = g st
4045ua&\4¢=¢,._.&,h

6451 do o gl = (g gllai
232 3502 oy ettt = Slad)

4492 dat oy o N s = Shadi
4560 o7t ds pllt b =  Shadt

6498 B4 p lad = Sladi

6966 43 o dat =  Shad)
7429 5yle op dat = Sl

9659 dat op dil id ot = Shai
10430 dag o g0 = Solad!
4230 dzadlt JUI ws = ad)
4253 dat o J1 ds = Jadl

4424 &t as o o s = Jad
4530 330 o (B J s = ad)

5365 4zl o do = b

5546 ot o Jo = ad!

6764 it 4 (2 dott = adl
8273 wett et = it
032 B! o @l p} = (g0

104 sedht ds o bl pl = (3!

106 38 &8 o @ud pl = g2l

53

3860 flo i 1 4s = 5 pat
3945 ari g us o B ks = § padl
3955 gt o Y ks = 6 )
5205 s o Olaze = (5 pal
5340 £ A1 gl o o = s o
5454 o3 o P8 = pad
5496 817 o o = s pad!
5711 o ds o Jo = & ad)
5913 Chwp oo G = 5y
6075 sinr o o = & pad)
6095 4y o yo8 = 8 oot
6227 4 o 308 = § 2
6228 Olets oy 308 = & o)
6354 dat o b g B = et
6495 jinr op dalld = (5 ol
6516 indb oy oS = 5 ol
6590 305 o2 330 = 6 i
6612 g op ds1# = g padl
6842 4zl op ket = (s
7219 ot o datt = § padl
7188 o ot ot = (5 !
7200 oo oy hat = $ padl
7405 Ol p datt = § pad)
7944 Jo o dot = 5 ol
7489 bt ds o da = 5y
7719 &t 4s p dett = (§ pad!
10341 a8 o Joie = 5 padt
10349 Oleder o Jilhs = 5
10498 3,51 o2 a3 = (s ot
10537 Ju o 0 = 6yl
10564 &t as o &l den = (5 2
10684 stas o Jool s = &y
10731 o2l o ol = 5 )
10784 &3 op onls = S padl



2309 g2t gl p o o e = (31D
2347 posp o G = (SR

2355 &t ik gy e = SR
2459 42 oy oper = g3l

2466 34 cp 4 1 e = (g0
2540 Jo op g = (30!

2647 058 o rm = SO
2837 wjp op M5 = golual

2864 i gp dow o g5 = (3N
3037 Cla g we o it Gy = gl
3164 g o oy = @31

3367 Jo p s = gatih

3407 wje oo B o = @aldidt

3415 wie oy iy, = g3l

3481 ot oy Lol = Golual
1/3481 opdt o dslo = gotuaht
3503 wag op a2 op E o = alaids
3523 wat o ¢ o = ol

3670 Jo on ot = aldity

4220 g8 (p S ds = (ol
4228 >50# (p JUI ds = (s30ai)
4299 &t 4t oy ol ds = )
4305 &l o et s = Galuad)
4407 ot o o3 H de = Saluatl
4383 st o o3 J ws = atuad)
4453 de o o2 B ae = sataid
CAT1S ed gl o ke = (gl
4757 daz o 530 dos = 31t
4835 daw o il ds = (3lats
4878 e op 1 we = Saluat
5011 chwyr o cikallt as = ooty
3897 s i o dif e = golaa
3913 &l ues o dit ds = satit

3951 0gp o dit s = g3ttt
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112 &1 ds o e ) = gabuaat
116 dt ds ot gt ) = galtit
224 sat oy opt gt =
202 o oy ot ) = (g
265 &% o g2l = @)
1574 ot gt azi = gatuadt
558 janxr o a3l = ol

561 o2l pt cp A2 = ot

601 01 e i oo ul = garais
726 i op a2 = gaididt

729 Wi oy AT = aluid)

879 it ws o ai = alaity
880 it ws oy A2 = ootuidt
924 ds o axi = oty

974 s o dai = atuaht

994 Wy cpgmb op AT = (g3Mi)
1074 sz o ui = coluat
1079 daz o 2i = ot
1243 saz o ari’= ol
1284 waz o 42i = gotuadt

802 Je o uri = ot

993 ek op AT = (sl
1512 Slw op Sl aai = gotdas
1737 cmal dag g LB Jos et = (ol
1692 Ol op Joslev) = (saldidt
1733 o oy Josle) = (gattitt
1746 sz oy Jeslet = ottt
10329 j 3w op Jali = PRRTS]
10670 cids oy p2dt = (s31aich)
1956 jozio g o Jo cp slb 0 = g3l
2035 dast oy jhnr = gotaat
2052 Juces fd o der = (g3
2099 w2 o ol = (gl
2305 wat o g = g3Mi



6101 Jdst ds o yo8 = @3N
6133 de o poe = M)l
6165 wet ot = 3l

6232 dat o 308 = S3a
6248 Ul oy g = SN
6270 d& o (b = g1
6303 dat o b = @oli)
6315 dit gub o bt b = (gl
6443 U S5 op e = g3l
6480 g0 ot gl = S3NaS!
6516 ixdb o JolS = s3lid)
6553 0U oy jled oS = (Sl
6564 &l &s op dit il = (g3li
0886 uzi op b yig = (gotual
8809 55 cnel ot = ottty
0029 tos o ped! dat = (31N
T456 iodb oy dat = 31U
TA8T it ds o dat = (S
6741 S g o0 datt = @il
6848 (2l oy dat = (g3l
T102 Y1 oy dot = @3lui
T135 jinr op datt = Soldad)
T185 o oo ot = (SR
T187 o o ot = (3RS
7292 Gz oo datt = (S31aH
7289 ju op dat = (30
7301 Y5 oy dast = (aluat
7329 5415 cp dot = (3Nl
7346 4S5 op datt = (g3l
7350 W) ottt = golua)
7385 Oladw o datt = (g3l
TA23 iy o datt = (3NURN
7541 o2 3 de o datt = (S50
7659 &l ks o dat = S3Nail
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4080 dat p dit ot = (g3
4070 3502 op & ot = SN
5040 dos oy st b = GOSN
5052 gt gt o I s = (oM
5108 jos op di gt ds = 3luat
5156 gt s op S gt A = g3l
5124 b gt o2 S Ls = (gl
5152 S)Ut cp Qg ds = goluadt
5149 ds op Pl s = ol
5163 dast op Pl ds = 3luidl
4177 &t iaee o &) deb = (SN
5190 i o Olaze = @gatuadt
3738 gl o Ol = (oMt
3753 03 83 gale = goli!

5865 Jail o Jo = $oluad)
5308 ped! il o 8 = (g3l
5341 dat ol i op o = 30!
5339 &t wes i o o = gt
5351 ui op o = ot

5371 uzi o do = gty

5471 g o o = g1
5482 iy o o = g0
5524 Otk op o = g3ad)
5532 Jow op S8 = ol

5579 é us o o = g3lids
5583 it us op o = ot
5688 wat o o = Solia!

5795 wat (o = gt

5888 lani ot S = olaadt

6060 gl i o2 o8 = 3N
6068 uzi o s = s3It

6081 crwdt o s = (Sl
6075 jisr oo yos = g3ldal

6078 oy oo o = @RI



10750 a2l o o = ataadt
10752 sue cp Ju = st
10946 u2i oy i g = (31t
10952 w3 oy Chw g = 31l
11009 wwadl s o Ciw gy = galutadt
11041 o 5f 3 o chow gy = (glaah
1350 aos o ami = 5 ot

770 oo o a3 o = g i
2637 3 pmt (= S
5617 ppmt as op Jo = s5idt
4004 w2 o it ws = 1S g il
1939 ¢ gt = &y

243 jdt o oottt = AR

154 jos (gl p) = i)

617 w2i oy a2i= (S

4572 plidi o Jas = sl
6198 wag oy OIS y o = ol
6302wl Cdadt oy p = 1ad)
1444 Judy azi = Jud

8833 Ly dast syl = 031y JW
5919 i Jo = o3y Jiby

535 st Jadt pi = Juh

7504 o2 J s oy dast = b1 21
4444 Jo o o7 J1as = g bl iy
3080 ja5 i op 0U3yy = S
9407 ,.,(A-\&;M=up@a.m
1242 saz o uzi= g
10716 Jobs o cuet Jy = S
1146 w2 oy w2i = sy 5L8h

1942 B gy |

9919 (o g = GHS
9197 bt G ot = 5T
6471 At oy olh = r 0,5
036 Jo1e) oo ottt = 5 S
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7667 &t w2y daf = S3laa!
7865 Jo o det = g3ty
8048 jos o et = (oataal

8057 (et ot dat = (3100
8156 saf o ot = Saluta)
8177 s oy datt = (S3lui!
8228 sat o dat = (o3l
8399 wast oy dast = (s3luidl
7761 St s o dat = (S3NARN
TTTT d g ds oy dast = (SN
9189 W ds oy drww dast = (SRS
8581 0yl op dat = (salAi)
8615 % op et = (531!
9491 wa2 oy WblS datt = (3ltid)
9744 & us o 3502 = GOIARI!
0810 das oy 5 g0t = (3l
9810 e oy 5502 = (atil
10097 st oy ihoan = (saluad)
10041 olasy Yo o giloas = galiid)
10132 i g o lae = (s3145J)
10158 sy 83 ilas = galdad)
10298 i o yihis = galuat
10321 5508 oo Gy yme = g3l
10416 &t & oy owge = (g340
10438 05y oy g = $30ta)!
10554 vl oy Olam = (S3luat
10624 azi o & in = gt
10629 cpmdt o &bt 32 = (g1 1
10633 @ o dbt &0 = g3l
10643 e op it da = oty
10792 j 7 o2 o8 = 31!
10812 su) cp o = satuai!
10832 s op o8 = SR
10855 L& o o5 = olal



2165 87 o o = (A
5812 dat o o = b
8155 et o et = b
9512 gl JwS sat = 0315 B
8375 wat oy datt = 03V I
7861 o ot datt =
4119 udt 5 & e = Ul
9034 ) 1 datt = gLk
4945 pusb ¢ S s = 0015 ok
1952 @33t gAhSIt = 5" Jb
1668 et i ot Joba) = gl
3104 o8 o1 bS5y = el
5558 o3 b o (o = (g
769 Jam 1 42 = il

870 & we oy ual = gl
2033 et oy jinr = Gl
2130 a1 goem = k!
2527 @ dp (G = Gl
2625 dat o i = b
2754 it de o oS =
2872 wyl o il = il
8872 oot ot ols = Sl
3463 b dat 1yl = S
4858 Ologhw o oWl de = (Sl
3805 azi o & e = il
3968 wat oy dil A = Sl
5050 uai o ookt e = b
3696 i g oy plas = i
5357 anl o o = gk
6609 Osm b ot s = Pl
7578 ahdl b o st = Sl
8028 jos oyttt = bl
8564 it ot 1 dot = b
7805 Olate p ket = it
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211 u;,gr.,m,,pé;;\

464 sut oy 5t gl = 6 S
514 g (o gel@l il = 8 S
878 dit up oy uai = 5 S
1187 et oy azi = S
3134 wet oy oot oy = 5 S
3251 o o it g = (5 SO
1/3492 s o o2 S o = & S
4501 wa op o2 ) de = 5 S
3901 st dos o At e = g S
5714 sz o Jo = ¢ S
5822 dat o o = g S
5906 o giny 1 g = 5 S
6158 wat o o = 5 S
6186 an ot o = o S
6668 g2l i oy dat = 5 S
6752 ot gl o et = 5 S
6756 19,0t gl ot 4at = 65
6916 uxi oy dat = 5 S
7382 Slodhw cp et = 5 S
7516 o2 ) bt op dat = G S
8017 o o dat = 6 S
8200 et o ot = 5 S
8200 sas oy datt = (5 S
8248 e oy dat = 5 S
8351 ot op et = ¢ SN
8403 3402 oy dut = 5 S
8462 ks oy dat = g S
8922 do o2 G35 datt = S
10077 cpedt JuS o ilaosae = o5 S
10495 gt g a5 = S
748 bt o o 421 = 6 S
9784 wat o 3408 = 031y S
1391 s o A0 = )3



8063 (st oy o = oilt

2628 wat p g = (S Al
906 Js o 42 = s 5l

2834 s op A = s i

3997 dag oy it ds = gt
11067 st oy Ciw g = (5 b0
4032 dast oy dit s = L
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8382 wa oy ast = bl
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4343 obl pl o 3 J s = sig)
V272 i oy da = Jlatall ol 51
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7816 Jods cp st = Sl
10349 Othw o Jilis = il
10711 Je jur op Jg = b
546 @bt gt o a3 i = gl

1203 dast o u2i = uld)

4515 das o o2 Jas = sl
5239 (o op Olaze = by

1340 dhas o uzi = coal)
8384 ot (p dett = aldt

271 G gy o o ) = g bt

707 cpmrr o A2 = (5 il

1922 ot JWS cp cpldt O = (5,1l
2388 £, s o g e = SR
4412 &t sllas o o2 J) s = il
8426 >30# 1 datt = (g W
9760 Js on 5502 = 5 b

2933 Wb Job = (gt A

3009 W aaiy = @ ,al

5560 g 1 s o = oot Al
5967 gr de = 31wt

9030 oz o S dat = 3 Wl
9994 uxi oy ke = (531
10531 (gl 7 goas = 31 Al
5478 i op J8 = il

3518 s op o = il

4462 jor g o7 J ks = il
6090 DY) (1 o8 = il

9249 o> 1 4t o et = 03t ey
1547 Adt cpadt plly uri = a1 S
2819 ardt jhr gl = a1 S
9918 tpr i o = ot S
3189 wat o 1 daw = il
5625 ke o Jo = ikl

7941 e o dost = il



7517 (2} s o dat = cmigd)
5002 ot oy il s = 3.0
7038 i 1y dak = s

10391 g op ypase = B9
2863 @bl o yar = H e

5314 el op o = (i
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